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k1 I k2
S0 | %&Hl F—L BR % i AE—F iHZE AE—F R
18K ER 6/ 3,975.0 100.0, 1,000.0f 976.4| 998.6, 1,000.0 0
2K R&E 5 3,951.9 994/ 1,000.0 979.4/ 1,000.0f 972.5 0
3IF EFE 1 3,880.0f 97.6| 1,000.0f 996.3| 1,000.0  883.7 0
A=)l BB 5 3,789.9 953 9943 1,000.0f 830.9 964.7 0
SKE ¥ 11 3,782.3] 95.2| 984.2] 883.8/ 1,000.0 914.3 0
6=k HE 11 3,690.9 92.9] 8514/ 916.00 1,000.00 923.5 0
7EIL EX 2| 3,686.6) 92.7 9914  837.9 997.1 860.2 0
8/i15= & f 2 36417 916 910.8 7823 995.7] 9529 0
9| hnk 5 3,626.5 912 989.9 811.0/ 1,000.0 825.6 0
10ER = 6/ 3,583.00 90.1 9928 801.3] 937.6, 851.3 0
1MKZE NE 5 3,563.1 89.6) 760.2] 897.1] 959.9 9459 0
1253 B 2 3,548.9) 89.3 1,000.00 687.00 967.1 894.8 0
135t BE— 2| 3,489.3 87.8 8355 918.0) 793.9 9419 0
14 EE 18 6| 3,435.7 86.4 9415  873.3] 884.7 736.2 0
15|83 = 3| 3,354.7 84.4 1,000.00 747.5/ 914.0 693.2 0
16153 B 3| 3,336.9 84.00 8246 7954 856.7] 860.2 0
17|E7] 4| 3,276.1] 82.4] 897.3] 8423 5923 9442 0
18300 fH 11 3,259.3] 82.0/ 798.2] 792.6/] 7721 896.4 0
19K S8 1 3,259.00 82.00 7204 839.7 992.8 706.1 0
207/ H=F 4/ 3,206.5 80.7] 9928 7714 697.7 7446 0
21/E BA 5 3,132.5/ 78.8) 9943 7551 663.3] 719.8 0
22 ¥ FF A 4/ 3,064.1 77.1) 1,000.00 744.7) 558.8 760.6 0
23 BKR & 4/ 3,0242f 76.1] 5916/ 8358 743.6) 853.2 0
24| K38 ## 6| 2,982.1 75.00 959.9 809.3] 769.7] 743.2 300
25/FREE 1R 6| 2,583.5 65.0 4455 681.7] 710.6, 745.7 0
20)=fk B 3 1,872.3] 47.1| 702.0 0.0 567.7] 602.6 0
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Ik 1 iz RAE—F
#_ |BHl F—L EF Bl BAER TR AL |BR BE % ~F
111+ A= 1 14 10:01 100, 1,000.0f 16.19] 996.3) 1,996.3| 100.0 0
2= BB 5 7 10:01 95 994.3] 16.13] 1,000.0] 1,994.3 99.9 0
3| KIF R&E 5 16 8:58 95 1,000.0f 16.47] 979.4| 1,9794 99.2 0
4FRK 27 6/ 20 9:58 95 1,000.0f 16.52] 976.4| 1,976.4 99.0 0
5 K8 1 1 15 9:57 90 984.2 18.25  883.8] 1,868.0 93.6 0
6L EX 2 18 9:53 100 9914/ 19.25] 837.9] 1,829.3 91.6 0
7EE E 6] 17 9:29 75 941.5| 18.47| 873.3| 1,814.8 90.9 0
81Nk 12 5 4 9:56 90 989.9] 19.89] 811.0| 1,800.9 90.2 0
IER = 6| 12 9:53 100 992.8/ 20.13] 801.3| 1,794.1 89.9 0
10| K8 # 6 21 9:51 80 959.9] 19.93] 809.3| 1,769.2 88.6/ 300
1=k EE 1 1 8:25 85 8514/ 17.61] 916.0| 1,767.4 88.5 0
12|79k &= 4, 25 9:59 95 992.8/ 20.91 771.4) 1,764.2 88.4 0
135 B— 2 19 7:59 100 835.5| 17.57] 918.0] 1,753.5 87.8 0
14 s BA 5 13 10:00 95 994.3] 21.36] 755.1] 1,749.4 87.6 0
15| &3 1= 3 5 10:01 85 1,000.0f 21.58] 747.5 1,747.5 87.5 0
16|83 B A 4, 23 9:59 85 1,000.0f 21.66] 744.7) 1,744.7 87.4 0
17|ET] & 4 26 7:58 90 897.3| 19.15] 842.3| 1,739.6 87.1 0
18/18:% & @ 2 3 8:53 90 910.8| 20.62] 782.3| 1,693.1 84.8 0
19\ %73 B& 2 10 10:02 100, 1,000.0f 23.48 687.0 1,687.0 84.5 0
20kiE 15 5 N 7:00 100 760.2| 17.98 897.1| 1,657.3 83.0 0
2183 BX 3 6 7:12 90 824.6/ 20.28] 795.4| 1,620.0 81.2 0
22|30 fEHE 1 8 7:31 95 798.2| 20.35] 792.6| 1,590.8 79.7 0
23lLAK E+H 1 9 5:56 100 720.4| 19.21] 839.7| 1,560.1 78.2 0
242K 4 24 5:20 90 591.6/ 19.30] 835.8] 1,427.4 71.5 0
25f8%E 6] 22 3:17 85 4455 23.66| 681.7 1,127.2 56.5 0
26i=/k Bin 3 2 6:45 85 702.0 0.00 0.0 702.0 35.2 0
Ik 2 iz AE—F
# |BHI F—L EF FfEEER  BR AL /RR B85 % ¥
15K @7 6/ 20 10:03 100 908.6/ 15.57| 1,000.0] 1,998.6/ 100.0 0
2 KIF RE 5 16 9:59 90| 1,000.00 16.01] 972.5 1,972.5 98.7 0
3i5E & H 2 3 10:00 95 995.7| 16.34] 952.9| 1,948.6 97.5 0
4 =k RmE 1 1 9:59 100, 1,000.0f 16.86] 923.5 1,923.5 96.2 0
5K 1 1 15 9:58 100, 1,000.0f 17.03] 914.3/ 1,914.3 95.8 0
6KiE 15 5 1" 9:36 95 959.9 16.46] 945.9| 1,905.8 95.4 0
71 EE 1 14 9:58 100, 1,000.0f 17.62] 883.7] 1,883.7 94.3 0
8 FH B 2 10 9:56 80 967.1 17.40] 894.8/ 1,861.9 93.2 0
9L Ex 2 18 9:57 95 997 1 18.10f 860.2 1,857.3 92.9 0
10 7k 4@ 5 4 9:59 95 1,000.0f 18.86] 825.6/ 1,825.6 91.3 0
Mgl BB 5 7 8:10 90 830.9] 16.14] 964.7| 1,795.6 89.8 0
12E8R = 6] 12 9:11 95 937.6/ 18.29] 851.3| 1,788.9 89.5 0
135t =E— 2 19 7:32 95 793.9] 16.53] 941.9| 1,735.8 86.9 0
14|18 3R B3 3 6 8:23 95 856.7| 18.10] 860.2| 1,716.9 85.9 0
15IUK E+ 5 1 9 9:59 90 902.8| 22.05] 706.1] 1,698.9 85.0 0
16300 R 1 8 717 95 7721 17.37) 896.4| 1,668.5 83.5 0
17\ B/F 18§ 6] 17 8:39 95 884.7/ 21.15] 736.2| 1,620.9 81.1 0
18| &3 1= 3 5 9:08 90 914.0) 22.46] 693.2| 1,607.2 80.4 0
192K 7§ 4 24 8:39 0 743.6/ 18.25] 853.2| 1,596.8 79.9 0
20|[E =] & 4 26 5:24 90 592.3| 16.49] 944.2| 1,536.5 76.9 0
21 K8 §# 6 21 7:23 95 769.7| 20.95] 743.2] 1,5612.9 75.7 0
22)fRE 6] 22 8:16 0 710.6] 20.88] 745.7| 1,456.3 72.9 0
23| 7R E3 4 25 6:27 100 697.7| 20.91 744.6) 1,442.3 72.2 0
24/E BA 5 13 7:43 0 663.3] 21.63] 719.8] 1,383.1 69.2 0
2513t A 4 23 4:50 95 558.8) 20.47, 760.6] 1,319.4 66.0 0
26)=5k B 3 2 4:59 95 567.7| 25.84] 602.6| 1,170.3 58.6 0




